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; Grey line: exponential fit Peak flux: 3.817+/- 1.435 c/s/cm’ é
= Black line: power law + gauss fit Fluence : 24.90+/- 12.73 c/lcm? =
E Dashed line: power law o ) ) 3
= Duration: 18.28+/- 9.37 s —
= Best fit model: 1. 5
= Best fluence mode]: 1. —
= ‘ Best durgtion model: 1. 5
] | | E
%— H- | I H \ ;4%‘ n “ Mm }MML L) | - } - |MK\UM H ‘, J_‘_\H H H‘M‘ | %
TR T JMHHH Ll
; Exponential fit é
= Expon.time: 3.91+/- 1.89 s (chi*red= 1.05) =
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; Power law fit é
E Power law index: -0.332+/- 0.154 (chi*-red= 1.04) =
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— Power law fit plus Gaussian (st.dev.= 6.97+/- 1.86 s, fracgs= 0.00+/- 0.00) =
= Power law index: 30.421+/- 15.659 (chi*-red=-1.00) 3
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